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LCC(i,t) = BR(i,t) + MC(i,t)
+UC, (i,t) +UC,(i,t) + EC(i,t) (32)
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BR(i,t) = Z p,(i,t,k) p,(i,t [K)B(i,t) (33
B= {Bot)+B(|0+B(|U+B(|0}@@

0000 p,00000000 p, 00000000
00000000BOODODOOOBOODOOOOB,O
0000000B,000000B,00000000
koOOOtoooOoOooioooooooooooo
Jo000o0o0o0o000o0o0000ooooooo
0LccOoOoOoOooon
goooo Mc

OO0 AMOOO0O0OO0OO0D00000000000
00000000O00O00000PCOORCOOO
gooooooooon
000000D0O00000000g UG,
J0000000000000ooooooon
000000000000000000o0on
00000000O0o0000000000 UG
0000000000000000ooooon
J0000020000000000000000
J0000000o00o0000000oOooOoooo
000000000000 0O0 wrPOOOOOOO
000oOoooooooooon



VI-003

ooooooooooonoec
goooooooooobbbbboogoooo
ooooooooooNgOomoooooooo
gco,0ononooooooooooonoooon
oooooooooooooon

o.0000o0ooobobooobn
gbooobgoooboowrtrODOO0DOO
000%000000000ONTROO0O0O0O0DO00
oooogoggogsenoooooooooboboon
ooboooooomooobooobmoooo
goboooooonl o booobobooo
“00"o0obbobobbo020b0o0o0booooon
goboooboooboboobboooboooooo
oobooooooboboobbooobooooo
UbobDoobobooboboobonowTRO
gobooooooboboobbooobooooo
OO00O000ooOoOOoOogoobooOoesoo/monoO
gobooooooboboobbooobooooo
goboooboooboboobbooboooooo
oobooobooobobooobbboooooo
goboooooooowrpdoooooo

. 0D0ooooooobog
gobooobooooboobooLrecconoo
gobooobobooobooobooooboooo
goboooobooooboobbooobooooo
goboooboooboobbooobooooon
oooooog@o)yoooobbooooboboo
goboooboooboobbooobooooon
goboooobooooboobbooobooooo
gobooobooboboobboooooooon
gobooobooooboobbooobooooo
gobooobooboboobboooooooon

oobooooboboooboooboooboooooo

gobooobooboboobboooooooon
gboboooboboobobooobooobooOon
Lccoonoopoon

goboooobooobbogobog

oo0booo0o AMOOOOOoooooooooo
goboboobbooobooooboooobooon
gobooooboo0ooooboooooooooo
gobooooboooobmoobboobooooon
goboooboo10b0oobboooboooooon
goboooboooboobbool1oooon
gobooobboboboooooooooooooo

—488-

TSR PSR R # 2 (2009 3)

000 uvcoooooooooooono
K5i—s |mwre. /| | mBEI0 | g | T
boti) 6.10 2225.28 2225| 877
5 |PCERER 997 3640.86 36411436 080 | 885
FET 847 309152 3092 [12.17
v [EET 11.94 435799 435812090 | 400
)—h B[ FET 8.04 293500 2935]14.14]

ogob 0oboogobogobo

t

0 10 20 30 40 50

60 (%)

000 O0O0booOoobog
gooooooooooboobooboboooboo
gboboooboooobbooooogoo
g. b0ooo

gboboooboooobobooooooobooon
ooooooLeccooooooooooooooo
oooooooobboboo0oboo0oOo Leccooog
goboobooobobobobboooooboboo
goob Lccouonmuoooooboooooo
gboboogooood

gogono
NoooooO0o0o0o0obOoOooooDooooooboog
ooooooooooooo BPO O 20060
QU000oo0oooOoOoooOoooooooooog
goooooooooobooooooooooboboboo
oooooooooobo2oor
jp00000000O0Oo0ooooooooooooog
O0D000C0DOO0O0000DODOO vol.280 20060
4H000000000000000 20000



